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Labl_1: HKBEEHEHEARKEE

float Convert (float TempFer)

{
float C;
float F = Templer;
C=(F-32) %x5/9;
return C;

}

Labl 2 : EIRKE Maxl

int Maxl(int x, int v);

double Maxl (double x, double v);
int Maxl(int x, int vy, int z);

double Maxl (double x, double vy, double z);

labl_3 {8 F B4R BRSO SRR 4L Max 1

template<typename T>

Tmaxl(T x, T y) { return (x > ¥)\? x & v; }
template<typename T>

Tmax1(T x, Ty, T z)

{

return (x 3?2 > 2?2 x:2) (> 2?2y 7))

Lab1'6 P IH A 7740 5 BR#R Fibonacci ¥
int £ib(int n)
{
int x;
if (n <= 2)
return 1;
if (n>2)
x = fib(n = 1) + fib(h - 2);

return Xx;
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Lab2 1: & CPU
enum CPU Rank { P1 =1, P2, P3, P4, P5, P6, P7 };
class CPU
{
private:
CPU Rank rank;
int frequency;
float voltage;
public:
CPU()
{
cout << "xiiECPUK\n” << endl;
rank = P2;
frequency = 66666 ;
voltage = 6;

}

“CPUQ) @
{
cout << 7xMTHCPU%” << endl; %

}

void run()

{

cout << "HCPUFFRIZS
cout << "CPUEZN:
cout << y
cout << ”
}

void stop()

{

PUfF 1LiZ4T#” << endl;

Lab_2 52 X Computer 2§

class Computer

{

private:
CPU cpu;
RAM ram;

CDROM cdrom;
public:



Computer ()

{
cout << "HRIETFEANLF\n” < endl;
}
“Computer ()
{
cout << \n#fTHITHEANL” << endl;
}
void run()
{
cout << "HIFHMIITARIZITH\N” << endl;
cpu. run() ;
ram. run() ;
cdrom. run () ;
}

void stop()

| QJ
cdrom. stop () ;
ram. stop () ; E

cpu. stop () ;

cout << \n#ilHAHUFEILIZITE” < endl;
}
}s @

Lab2 3 A +&H Person 2%

class Person

{
private: .
int num;
char sex;
Date
in
publ
0 {
son(int n, int vy, int m, int d, int a, char s = 'm’) :birthday(y, m, d)
{
num = n;
sex = s;
id = a;
1
Person (Person& p)
{

num = p. num;

sex = p. Ssex;



birthday = p.birthday;

id = p.id;
1
void input ()
{

7,

cout << "YRT .

cin »> num;

cout << TR (m/f): 7

cin >> sex;
cout << “HEH: 7
birthday. set () ;
cout << "HHIES: 7
cin >> id;
cout << endl;

}

void output ()

{

cout << "5 7 << num << endl;
cout << "PER]: 7 << sex << endl;
cout << "EiES: 7 << id << endl;

cout << "HH: 7
birthday. display() ;

S =
Lab5 1 E#

Point Poi

urn *this;
}

Point &Point::operator ++()

{
x += 1,
y = 1;
return *this;

}

Point Point::operator ——(int)

cout << endl;
}
“Person() {}
o



y = 1;

return *this;

Point &Point::operator —()

{
x =1
y —= 1;
return *this;
}

Lab5_2 .7 B $0A H

class Vehicle .
{
public:
virtual void Run() { cout << "3E25 Vehicle: :Run }
virtual void Stop() { cout << "H:ZE Vehicle:: KEAFE\n"; )
b

class motorcar :public Vehicle {

public:
void Run() { cout << "Ik \n”; }
virtual void Stop() { co o LA \n”; )
}s

class bicycle :public Vehicle {
public:

virtual void Run()| ficout Q "URAEZE bicyele::Run eRECFAH\n"; }
void Stop() kA5 bicycle::Stop BREH\n"; }

¥

class mot ublic bicycle, public motorcar {

cout << "YRZEZK motorcycle::Run FRECAA\n"; }
top() { cout << "JRAEZK mototrcycle::Stop FRECAAH\n": }

Lab5_3” =" f1” =" BEFER
bool Person::operator==(Person &p)

{

return id == p. id;

Person & Person::operator = (Person &p)



num = p. num;
sex = p. sex;

birthday = p.birthday;
id = p.id;

return *this;

SEIR DY
Baseforml : #3435

ifstream fin;
of'stream fout;
int num line = 1;

char temp, inFileName[128];

®
string buffer; @
if (arge == 1) @
{
printf ("iFH ML SetLineNum filename\n”) ;$

exit (0);
}
else
{
strcpy s (inFileName,
}
cout < IEFTIFHIASCAF. . \n
fin. open (inFileName) ;
if (fin fail() g
{
cout K< EASCHFT R \n”;
exit (
}

t K< TIEFT RS H SO L \n”
en (“output. txt”);

if (fout. fail())

{
cout << “Ht ST \n”;
exit(1);

Baseform2: ” <<” M1” >>” BEFER,
ostream& operator<<(ostream& os, People& p)

{



char s[100];

ifstream Output (“abc. txt”);

os <Cendl << "ABfER: 7 < endl;
while (!Output.eof())

{
Output. getline(s, sizeof(s));
os < s << endl;
}
return os;
}
istream& operator >> (istream& is, People& p)
{

ofstream Input(“abc. txt”, ios::app);
cout << IHFHIANGEE: 7 << endl;
cout << "gm'5. 7

is >> p.number;

Input << “Zm'5: 7 << p.number << endl; @
cout << TR 7
is >> p.sex; E

Input << “PEH]: 7 << p.sex << endl;

cout << "HAEHIH: 7,

p. birthday. shuru() ;

Input << “HZEH: 7 << p.birthda p. birthday. month << 7.7 <<
p. birthday. day << endl;

cout << "HPMHES: 7;

is >> p.id;
Input << "HiFs: ” << p.id &< endl
return is; .
}
Baseform3;:
class MailMa
{
b
1 bHaveMsg;
void OutMsg() ;
void ReadMsgFromFile () ;
void SaveMsgToFile() ;
void InMsg();
MailMan() ;
virtual “MailMan() ;
private:

char Buf[1024];

fstream fs;
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